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QUESTION 1

You are installing a x16 PCIE HBA into a server and notice that you only have a x8 slot available. What is the impact of
this action?

A. The HBA will negotiate and only use x8 lanes.
B. The slot must be reconfigured for x16 support.
C. The HBA cannot be installed into a x8 slot.

D. The slot will negotiate to support the x16 HBA.

Correct Answer: C

QUESTION 2

You have been asked to review your fabric management plan for effectiveness and efficiency, and to ensure that you
are meeting its stated requirement. What should you check to see if you are meeting the defined SLAs?

A. viability of 1Gb/s FC technology to minimize problems with support

B. backup and recovery test results and their impact on fabric infrastructure
C. actual expenditure on fabric services against the predicted expenditure
D. frequency of fabric failures and the number of services impacted

Correct Answer: A

QUESTION 3

What two (2) benefits does SCSI Command Tag Queueing provide? (Choose two.)
A. allows I/O requests to be queued to the device

B. determines the most efficient way to order and process commands

C. tags I/O requests so they can be executed first in first out

D. allows SCSI I/O throughput to equal rates of fibre channel

E. determines queue depth position

Correct Answer: AB

QUESTION 4

What determines the principle switch in a Fibre Channel Fabric?
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A. highest Domain ID

B. highest world wide name
C. assigned priority

D. lowest Domain ID

Correct Answer: C

QUESTION 5

You have been asked to review your fabric management plan for effectiveness and efficiency, and to ensure that you
are meeting its stated requirement. What should you check to see if you are meeting the defined SLAs?

A. viability of 1Gb/s FC technology to minimize problems with support

B. backup and recovery test results and their impact on fabric infrastructure
C. actual expenditure on fabric services against the predicted expenditure
D. frequency of fabric failures and the number of services impacted

Correct Answer: A
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